library(languageR)

library(lme4)

library(lattice)

library(MASS)

library(plyr)

library(lmerTest)

datafile = read.csv(file.choose(), sep = ",", dec = ".")

str(datafile)

datafile$group=as.factor(datafile$group)

datafile$logffd <- log(with(datafile,ffd))

datafile$loggd <- log(with(datafile,gd))

datafile$logidt <- log(with(datafile,idt))

datafile$loggopast <- log(with(datafile,gopast))

datafile$logamplitude <- log(with(datafile,amplitude))

contrasts(datafile$group) <- contr.sdif(2)

contrasts(datafile$pred) <- contr.sdif(2) 

contrasts(datafile$freq) <- contr.sdif(2)

ffd.lmer1= lmer(ffd ~ pred * freq * group+ (1|item) + (1|id), datafile)

summary(ffd.lmer1, corr = FALSE)

logffd.lmer1= lmer(logffd ~ pred * freq * group+ (1|item) + (1|id), datafile)

summary(logffd.lmer1, corr = FALSE)

gd.lmer1= lmer(gd ~ pred * freq * group+ (1|item) + (1|id), datafile)

summary(gd.lmer1, corr = FALSE)

gd.lmer2= lmer(gd ~ pred * freq * group + (1|id), datafile)

summary(gd.lmer2, corr = FALSE)

loggd.lmer1= lmer(loggd ~ pred * freq * group+ (1|item) + (1|id), datafile)

summary(loggd.lmer1, corr = FALSE)

idt.lmer1= lmer(idt ~ pred * freq * group+ (1|item) + (1|id), datafile)

summary(idt.lmer1, corr = FALSE)

logidt.lmer1= lmer(logidt ~ pred * freq * group+ (1|item) + (1|id), datafile)

summary(logidt.lmer1, corr = FALSE)

logidt.lmer2= lmer(logidt ~ pred * freq * group + (1|id), datafile)

summary(logidt.lmer2, corr = FALSE)

gopast.lmer1= lmer(gopast ~ pred * freq * group+ (1|item) + (1|id), datafile)

summary(gopast.lmer1, corr = FALSE)

loggopast.lmer1= lmer(loggopast ~ pred * freq * group+ (1|item) + (1|id), datafile)

summary(loggopast.lmer1, corr = FALSE)

amplitude.lmer1= lmer(amplitude ~ pred * freq * group+ (1|item) + (1|id), datafile)

summary(amplitude.lmer1, corr = FALSE)

logamplitude.lmer1= lmer(logamplitude ~ pred * freq * group+ (1|item) + (1|id), datafile)

summary(logamplitude.lmer1, corr = FALSE)

skip.glmer1= glmer(skip ~ pred * freq * group  +(1|item) + (1|id), datafile, family = binomial)

summary(skip.glmer1, corr = FALSE)

ref.glmer1= glmer(ref ~ pred * freq * group  +(1|item) + (1|id), datafile, family = binomial)
summary(ref.glmer1, corr = FALSE)

reg.glmer1= glmer(reg ~ pred * freq * group  +(1|item) + (1|id), datafile, family = binomial)
summary(reg.glmer1, corr = FALSE)
